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Redundancy

ORACLE, SQL, DB2

 

 

1. 

                                  1×5=5 

2. 

                                                                                                                                  5 

3. 

×5 =
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4. 

× 10=

A B C 
Name R.No. Marks 
Ram 23 83 
Sham 37 50 
Sita 38 81 
Geeta 40 65 
Rani 49 78 

1. 

2. 

3. B

4. B2 B6 B7

5. SUM B9

6. MAX MIN

COUNT AVERAGE

Name Marks 
Sandeep 45 
Ram 70 
Sham 33 
Gita 92 

Name Marks Grade 
Ram 45 C 
Sham 70 B 
Sita 33 D 
Geeta 92 A 
Rani 61 B 
Joti 70 B 

1. B 

2. Marks 

3. 
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4. A 

Create table in Design View Name, 

F_Name, R_No, Marks text, 

text, number, number

(i) 

First Name, Address, 

City and Mobile Phone

(i) 

(ii) 
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